XYZ,=98.07,100.0, 118.22 Y.=Y-50
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B,= 258, (b~ ;) Y
3= a5 [ (X=X ) /Y
by=tylz/y o1c
=1, byy=-04

X, = 0,110, B, = 0,700
Coa=IAZ+BT s
6 OstwaldFarben (o)

von maximalem (m)C,g im
linearen Farbenraum (Cyg . Y)
Lichtart C00, ¥,,=100 Y,=0 ©C
Name Bereich X, Y, 7, %y ¥, A, A
R, 567_775 6125 3934 028 0,6071 0.3899 586 487
Y, 492_77578.47 94.03 7.15 04367 05233571 463
G, 492567 17.41 5488 7.1 0.2192 06912535 535¢

C, 380567 37.0 6085 118.170.1713 0.2816 487 596 Parameter:
B, 380492 19.79 616 1113 0.1442 0.0449463 571 Y & Name
M, 567_492 80.85 45.31 111.350.3404 01907 5350535 ;
567 4
W) 380775 86,07 1000 11622031 03161 100% Lichtart CO0
N, 380_775009 01 011 03099 0.316 0% Y,,=100 Y, =0

7,380 7751765 180 2128 031 03161 18%
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